H & 0l & AHS B Ml A

A SE=AL
B =N CABY XA
S9l: CAISS o AS 2 (49 52)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SE =X 4,181,863 8,766,691 A4,584,828
= 151,747
Al 474,780
- 3,555,336
=M CAIEE x4 1,838,144 1,346,720 491,424
= 151,747
Al 468,780
- 1,217,617
A=3t & A= 1,077,854 867,400 210,454
Al 276,500
- 801,354
=X A= 2] 742,854 608,400 134,454
Al 93,000
- 649,854
101 @12A4H| 329,604 246,414 83,190
04 JIZtN2 2N S 2+ 329,604 246,414 83,190
O=X2c &g eIFY 329,604
OPE= 78,8803 x 12 x246! 232,854
=5 - =g 78,8803 x12H «67 63,420
O4UEE S AEARES 33,330
A2 296,273,280 *3.545% 10,503
CLoEIIRYEE
10,502,888 *12.81% 1,346
=0z 296,273,280 *4 . 5% 13,333
LEEE 296,273,280 *1.75% 5,185
SHHES 296,273,280 * 1% 2,963
201 et 3| 30,830 24,566 6,264
02 s3=gHl 30,830 24,566 6,264
OA&EHIS X 2,900
OS=EN=I, 558880
60,0003 *5CH+53] 1,500
Os4s 80,0002 x2CH+53] 800
OS2I 200,000& «1CH*33] 600
OxdXl 228 =FH 3,120
Ooflgs 1,560 %25 £ +8LH* 102 3,120
08E2= € HA 24,810
O™IIANEBE (=S E)
((35,0002 %72 )+(65,0002 +52 ) ) x250H 2=
14,250
O4ot=C 2 (=3 X)
110,000 x 1691 263 10,560
203 HR=&H] 2,700 2,700
03 A=A R =] 2,700 2,700




2A:

B = CASY XA
Belr TAISSE & A= 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
0BA=K P2EZ
3,000,000&*1=+0.9 2,700
206 M=l 45,000 45,000
01 M=4l 45,000 45,000
O=X2cE s, =78
40,0003 %2504 10,000
OZAI=3E 42 U B7Y
5,000,000 *42] 20,000
O=X At=22|E A2
5,000& 1052008 10,000
OESESE T+
5,000&*1,000& 5,000
305 HHal= S 3,000 3,000
NEE 3,000 3,000
OxSABZE| M0 T2 25HAS S
00,0002 1021 3,000
401 Al HIZ S 0HbI 331,720 286,720 45,000
Al 93,000
- 238,720
01 AlZ2H| 331,000 286,000 45,000
OXZX AtZ2te| HteH(2ts: 3, H
=, 01A, EH S) 60,000,000 *1 60,000
Al 30,000
- 30,000
OJI2= Atzzte| H2tetOtz dF, X
3, w2lEH, oA S)
126,000,000 * 14 126,000
Al 63,000
- 63,000
O28LIT S0HMH & ZAAM =2FAF
80,000& *5001F 40,000
Ozlg, 28 =EX Azt
5,000,000& 102 50,000
OXZATHS AL SAI22IH] (2224 0ILHAITH
SA AP 5%, 2t 2 RIE)
400,000, 000& *5% 20,000
O=X 242 Hel(BH=SE 72 o
HDI2 HMeldl) 10,0002 %1,000& 10,000
o=z 2xH &1 25,000,000 * 14! 25,000
03 Al 20HHI 720 720 0
OZEX Atz2te| H2tEDE 9 SAF 20
100,000,000 *0.72% 720
otz U CAE FHI(HEAIY) 205,000 129,000 76,000
Al 86,000
- 119,000
206 M=l 25,000 25,000 0




2A:

ZI: =M CAEE 2
Belr TAISSE & A= 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 =l 25,000 25,000 0
OJ2% #2t FAE 5% 7Y
5,0002 %4, 00074 20,000
OJt24 AR X 7Y
5,000& *55*2008 5,000
401 AIZHIL S THY] 179,000 78,000 101,000
Al 86,000
7 98,000
01 Al 179,000 78,000 101,000
02, 0% It FHI(OI24 2@ 2d)
5,000,002 %103 50,000
OJt=stz2 =3tR ATH(AZE =3t HH)
50024+3000 4 *302#43] 18,000
OFQIHO| AlY M Y 24(2X, moet
S) 500,000 *207H 2 10,000
OAZEEY TA=(Za=) 24
60,000,000 * 17H 2 60,000
Al 45,000
7 15,000
OZHIII Hel stz 5 M (FUEO0L
TEOE) 200,000 * 10074 = 20,000
Al 20,000
OUges Jt2 & FHI(FUHOA S
o) Z5IE AT 50024%2,000 ] 1,000
Al 1,000
OJt24 w2l FUI(FUR0A SHOE)
200,002 *1002 % 20,000
Al 20,000
405 THAHE S| 1,000 26,000 /25,000
01 et L SEH SH| 1,000 26,000 25,000
os#E 7¢ 500,0002*1CH 500
osEEII| 7Y 500,000 *1CH 500
XA SAlE ZHOI24 Z48)(HEAY) 30,000 30,000 0
Al 22,500
7 7,500
401 AIZHIL R THY] 30,000 30,000 0
Al 22,500
7 7,500
01 Al 30,000 30,000 0
OJ2% ZH(2A)
1,000,00020 3012 30,000
Al 22,50
- 7,500
TR SAIE E8(BEN2HZ Z4)(HSAIY) 100,000 100,000 0
Al 75,000




A SE=AL
B =N CABY XA
Celr ZAIsSE 2 A= 2| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 25,000
401 AIEHIX 20 100,000 100,000 0
Al 75,000
- 25,000
01 AlZ8| 100,000 100,000 0
Ogs JtizsZ &4 100,000,000 * tkm 100,000
Al 75,000
- 25,000
Aol 2 X 433,520 326,534 106,986
= 126,225
Al 86,646
- 220,649
THetatg e (22 x) 390 390 0
= 156
Al 70
- 164
201 et 3| 390 390 0
= 156
Al 70
- 164
02 S3=gHl 390 390 0
0332 € MAl 390
OLEZAIE AXNZMAILE Stz
130,000 «3CH 390
= 156
Al 70
- 164
THEt At g 2| (A EE) 1,442 1,442 0
= 577
Al 259
- 606
201 fer= 3| 642 642 0
= 257
Al 115
- 270
01 AtR2t2|HI 642 642 0
(CF=FE 642
Odt=2d3t SAMHI 642,0002 x1H 642
= 257
Al 115
- 270
202 04| 800 800 0
= 320




A SE=AL
B =M CABY X4
Chel: A THOH 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 144
T 336
01 2LHoIH 800 800 0
Ott=d3l ESHI 20,0002 ~40& 800
= 320
Al 144
- 336
2T IS &ete 12,000 12,000 0
= 4,800
Al 2,160
- 5,040
201 223 12,000 12,000 0
= 4,800
Al 2,160
- 5,040
01 AtR2te|HI 12,000 12,000 0
ouElIsdstl dtes 2
2,0002 x155+4008 12,000
= 4,800
Al 2,160
- 5,040
SEMEUYNSN 29 131,320 129,265 2,09
= 52,528
Al 23,638
- 55,154
101 21A4H| 122,240 120,170 2,070
= 48,8%6
Al 22,004
- 51,340
MU IIRINZZE2NSES 122,240 120,170 2,070
OM=HZU Y2 2HH 122,240
OoJlzs 78,8802 x8EH*140 83,346
= 35,340
Al 15,902
- 37,104
O=% - dit+d& 78,8803 x82 35 22,087
= 10,102
Al 4,545
- 7,440
OAUESE E MEBIRES
11,807,000& 1 11,807
= 3,454
Al 1,557




A SE=AL
B =M CABY X4
Chel: A THOH 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 6,7%
201 et 3| 9,080 9,095 A15
= 3,632
Al 1,634
- 3,814
01 AtR2t2|HI 8,000 8,018 A18
Ot=8Y ESXE(AUXZ)
4,800,000 1CH 4,800
= 1,920
Al 864
= 2,016
OASHSHLTSN 222 72
400,000 ~8H 3,200
= 1,280
Al 576
- 1,344
02 s3=gHl 1,080 1,077 3
OM=8E ESXHE(KFI)
1,080,000 1CH 1,080
2 430
Al 194
2 454
NEENIES] 80,000 70,000 10,000
Al 40,000
- 40,000
201 Eer23 | 80,000 70,000 10,000
Al 40,000
- 40,000
01 At2teltl 80,000 70,000 10,000
OdtEdal &I St 80,000,000& 1 80,000
Al 40,000
- 40,000
A=SXSHHA 2S 12,160 12,160 0
201 et 3| 9,160 9,160
01 AtR2tc|Hl 8,760 8,760
oggt=ZH] 3,000
Out=0ey S 82= M
60,0003 502 3,000
(C=E 5,760
Ott=0g2F 34l
8,000 x4 180! 5,760
2 S52g4l 400 400 0
OAIE&H| SXldl 400
OF&I| =Xl 10,0002 *40CH 400

_6_




A SE=AL
B =M CABY X4
Chel: A THOH 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 3,000 3,000
14 IIEt2 83 3,000 3,000
Ot gatd AL L=
3,000,000 3,000
SElHER 29 98,231 98,231
101 21A4H| 61,431 61,431
04 JIZtN2 2N S 2 61,431 61,431
OL=T 2L SHCH 61,431
OJlZ=s 78,8803 x4H 140! 44,173
O=% - giis< 78,8803 x4 36 11,044
O4UEE S MEAREs 6,214
HHEE 55,217,000& *3.545% 1,958
ColEayeeEd
1,958,0002 %12.81% 251
=0z 55,217,000& *4.. 5% 2,485
LEEE 55,217,000& *1.75% 967
AHEE 55,217,000 * 1% 553
201 et 3| 33,600 33,600
01 At2t2l] 33,600 33,600
Ott=xst HMFHI(Tets, Matet) 7
200,000 *1608 32,000
odsdENgdl 225 7Y
400,000 »4H 1,600
202 048l 3,200 3,200
01 2L AL 3,200 3,200
Out=dlst EH| 20,0003 »160H 3,200
AHEEALS 97,577 9,877 700
= 68,164
Al 20,519
- 8,894
401 Al HIZ S OHbI 97,577 9,877 700
= 68, 164
Al 20,519
- 8,8%4
01 Al&H| 97,577 96,877 700
OAFEHAIE 96,877,0003* 1044 9%.,877
= 67,814
Al 20,344
- 8,719
OLIALEY 2l LAXIS AEfZAL
700,000 *10H A 700
= 350
Al 175
- 175




A SE=AL
B =M CABY X4
Chel: A THOH 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AFAFEREEX] 400 400
201 er23 | 400 400
01 At2teltl 400 400
OLAIEN FOHHIS NSRS RS
100,000& x4 & *13] 400
SEE |54 & 2l 326,770 152,786 173,984
= 25,522
Al 105,634
- 195,614
=2 ZM2e|(HEAY) 64,000 32,000 32,000
Al 48,000
- 16,000
401 Al HIZ S 0HbI 64,000 32,000 32,000
Al 48,000
- 16,000
01 Al&HI 64,000 32,000 32,000
O=Z FHIAg 32,000,000 x2km 64,000
Al 48,000
- 16,000
AHENSHZ LM LR 1,176 1,154 22
= 583
Al 176
- 412
206 MH=H| 1,176 1,154 2
= 588
Al 176
- 412
01 M= HI 1,176 1,154 2
Ot EdiE HIZ2 NS SHEH|
588,000 x2K & 1,176
= 583
Al 176
- 412
AHEEHMSHEYNE 2 49,868 48,810 1,088
= 24,934
Al 7,480
- 17,454
101 21AH| 49,868 48,810 1,058
= 24,934
Al 7,480
- 17,454
04 JIZtN22 XS 2+ 49,868 48,810 1,088
OueEoliE LM 49,868




A SE=AL
B =M CABY XA
ol MEAE 54 % 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oJlzs 78,8803 x2EH x200! 31,552
= 15,776
Al 4,733
- 11,043
O=% - giis< 78,8802 x2& 402 6,311
= 3,15
Al 947
- 2,208
OMNZIZE S NBIRES
12,005,000 * 1= 12,005
= 6,002
Al 1,800
- 4,203
ARAAHIA Y REIAIS (R EALY) 69,001 68,983 18
Al 49,978
- 19,023
101 @124H| 66,701 66,683 18
Al 49,978
- 16,723
04 JIZtNZ22 XS 2+ 66,701 66,683 18
OZ A=A 2 66,701
OJlEZ= 78,8803 x3H 200! 47,328
Al 35,49%6
- 11,832
O=F% - dit+=& 78,8803 x3& 40! 9,466
Al 7,100
= 2,366
OIEE S NBUIRED
9,906,400 x 1= 9,907
Al 7,382
- 2,525
201 er23| 300 300
01 At2tltl 300 300
O™¥AL E2==HI 30,000& 108 300
206 M=l 2,000 2,000
01 b 2,000 2,000
oL-BRIE T 7Y
5,0008x45+508 1,000
OUR LHs=0==D] @A T
50,0003 x4 E+58 1,000
AT 2hel 142,725 142,725
101 @124H| 42,125 42,125
M OIRINZZE2NSE S 42,125 42,125
O=Zdc| Y 42,125




A SE=AL
B =M CABY XA
el MEAE Fd 2 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oJlzs 78,8803 x200& x2&H 31,552
O=F% - dit+=& 78,8802 x40 2 6,311
OAUESE E MEBIRES 4,262
- AYEE 37,863,000 *3.545% 1,343
ColElIeeEd
1,343,0002 %12.81% 173
=glei= 37,863,000& *4. 5% 1,704
NEZE 37,863,000 *1.75% 663
ATHES 37,863,000 1% 379
201 er23 | 20,600 20,600
01 At2telt] 1,000 1,000
o4t ot 82 % eHE MIE
250,000 *4H 1,000
02 S3=gl 19,600 0 19,600
O0ssR= € MA 9,600
OTIIABZ(HXIZ0D], SEAE 8)
,000& *9H A+ 128 8,640
ONBIAER(£2 24, HEE S)
40,0003 204 A+ 128 960
OAIZ &= X 10,000
OsaE 80,0002 +304+53] 1,200
OPIXIEO| 2 28010 KX 24
8,800,000& »1& 8,800
401 Al HIZL 201 80,000 80,000
01 A&t 80,000 80,000
onEU AL B4 U BB
40,000, 000& 2km 80,000
R SAXd A 2e 1,433,731 6,894,568 Ab,460,837
Al 6,000
T 1,427,731
Sz 675,931 656,738 19,193
Sl 675,931 656,738 19,193
101 @124H| 526,522 513,359 13,163
M IRINZZENSES 526,522 513,359 13,163
Oz Y 526,522
oJlzs 78,8803 x25EH 200 394,400
O=% - dit+d& 78,8802 x25EH x40 78,880
O4UESE S AEXRES 53,242
- AYEE 473,280,0002 %3.545% 16,778
oI RYEE
16,778,0002%12.81% 2,150
=2lHs 473,280,000& *4. 5% 21,298
LEES 473,280,000 %1.75% 8,283
AHES 473,280,000& * 1% 4,733
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0
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Hlw

4,430

2,100

2,330

HMEE
Ofl &k2h

3,750

114,279

110,529

27,600
27,600

Ofl &F2H

5,850
3,750

118,709

2,100

112,859

687

2

72
293

273
193
173
109

89
9,576
65,016
6,100
2,400
1,600
1,200
400
2,4%
2,4%
27,600
27,600

34,560

3,600

20,000

2,000
2,000

- ESS

- SRA(3) - HIRAEY

S - B

3

50,0003 2570 A3

01 AtR2telbl

110y
R
&0
il %
or of)
* 5
ok m
o =
o}
o
_A
0

ok~
i
=]

T

RO
g4
Ao
=
A 3
©

[0
[0

o
Mo

)

o
B0

19,3903

1,680& %42 .52 &

(7502 )

0H
Ho
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1,6802%162.52| &
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19,3903

1,6802+52.52/ Ef
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90,0003 *3204 2+ 122

6,100,000 14

200,000& *12

o

2|

o=

80,0002 *1CH+5

60,0003 *4CH+5

126,000 #4304 2+ 128

2[H|

=l

OMIINER(3E,

OZxSHHa S
OAEZE IS XY
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Ok
ol
o

2

WEN,

doISE

o

2|

=

3

1,560 202 | E4+8CH* 10
M

2l8 XHH7(

01 XH=4l

206 =4I

SX2el8 X7

AT
< ol

A -

5,000& x20Z+200&
20,000 100K
5003 *4,000%£ |

k
11y
1Kd

1,500

1,500

"

305 HH




A SE=SAL
N ImE 2AXH U 22
el S EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 that=S 1,500 1,500 0
O3 W CHE AL 20l [HE Zoltidd=
S 300,000 #5214 1,500
405 KHoHFSH| 1,600 1,600
01 ML ESFSHI 1,600 1,600
ozd2clE ¥4l 7Y 1,600
OSH0IF I 500,000 1CH 500
OsEs 500,000 *1CH 500
Os8d8y)| 600,000 *1CH 600
SERANES 757,800 324,600 433,200
Al 6,000
- 751,800
SRFA L E(HEAY) 300,000 300,000 0
401 AIEHIZ SR THYI 300,000 300,000
01 AlZ8| 300,000 300,000
OZ33U AEE 2 & RA2AL(SI23H
2, O2l0| HEf St S E2IHA)
150,000,000 *1 150,000
O=g Us =dAlE A&
50,000, 00024 #14 50,000
OBHU=22R(HY, B2, ME, 24 S)
50,000,000& * 1 50,000
OsJEIIANE 72l & 3ol
50,000,000& *1 50,000
SR 2= (FLIE0 0 6,000 24,600 18,600
Al 6,000
401 AIEHIZ SR THYI 6,000 24,600 18,600
Al 6.000
01 Al&H| 6,000 24,600 18,600
OIS Ee AX(F2UHML & FHE) 6,000
OYS0I2 ojRI0IZ
4,000,000 * 10 2 4,000
Al 4,000
ous oelol=d 2,000,000 14 2 2,000
Al 2,000
=20el0lsd 2dx 4X 200,000 200,000
401 AIEHIX SO 200,000 200,000
01 Al&H| 200,000 200,000
O=02t0el0lzd 28X ] &1
200,000,000 *19H 2 200,000
hgt At &y 251,800 251,800
401 AIEHIZ SR HYI 251,800 251,800
01 Al&HI 250,000 250,000
OB MEHS 170,000,000 * 14 2 170,000
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A SE=SAL
Hu: BmE 2AXH U 22
el SERNES (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLkt= dHssd
80,000,000 *10H 2 80,000
03 Al =2 0HHI 1,800 0 1,800
OAlI4SHYI 250,000,000 *0.72% 1,800
2ot HEHS 28 X4 732,361 362,300 370,061
4 AL =5 2 Sl 732,361 362,300 370,061
sSUl MSAE =4 2 2e|(HEAL) 366,888 310,100 56,788
101 @124H| 63,184 0 63,184
M IRINZZENSES 63,184 0 63,184
ONMSAIE 33l 22 63,184
oJlzs 78,8803 x3%H*200 47,328
OFFHA=¢ 78,8803 x3& »40 9,466
O4UESE S AEXRES 6,390
LAY 56,794, 00021+3.545% 2,014
L OIE)| Qo
2,014,0002%12.81% 258
=2lds 56,794,000 *4. 5% 2,5%
LEES 56,794,000 *1.75% 9%
AHES 56,794,000& * 1% 568
201 er23| 53,204 60,100 2\6,8%
01 AtR2t2|HI 3,600 3,600 0
Odgt+=H| 3,000
OSUHSEAIE & HENSAE =23 &
22E7Y 3,000,000& 1 3,000
o=2g+d 600
OSEHEAIE o & UAEEIL 34
=g 100,000 3 »23] 600
02 S3=gHl 49,604 56,500 A\6,8%6
o0sE2= & HA 19,604
OSEsHsE3E 2 ML &g
50,0003 x4 =122 2,400
omza=Ly Xt 012 RE=
34,0003 *10H+53 170
OSEHSAIE HSAIAE AISE
7,000& 12| 128 84
O7eM=ZE 2 2L H3X i =
= 16,000
CFUMSEE 2 RS HAE =30
a4 400,000 x2I 22 1,600
masLd 400,000 «32/* 12& 14,400
OZZ= HYSH HULH(MSAIES) 950
-EXE HYSH HEEE
950,000& *12]*1H 950
OAE&BISXII 30,000
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FA S
2
A

3 AZs S 8d &g
Rl ME MSAE 25 L Jl (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFH=ZE & SUIRSAIZ FAl2c
bl 30,000,00021+1 30,000
305 A 2S 500 500
01 HHAI2S 500 500
ONSAIA QHFAMDOI TE EoHHHAS
100,000& *521 500
401 AIEHIZ R 0HYI 250,000 250,000
01 Al&HI 250,000 250,000
OdEH=AE= EX & JHl
250,000,000&*1 250,000
SUHSAMEN W == 2317 wH 165,000 0 165,000
401 AlEHIZ S 0HbI 165,000 165,000
01 Al&H| 165,000 165,000
OSUMSAIZA W == 2317 WA
165,000,000 *14] 165,000
29T 2201YF 512 KX F| 50,000 0 50,000
401 AIEHIL2OH] 50,000 50,000
01 Al 50,000 50,000
02YS 2201YF 517 KX H|
50,000,000 * 14 50,000
AU+ HE(SE - 01FH) 40,000 0 40,000
401 AlEHIZ 201 40,000 40,000
01 A&l 40,000 40,000
OBAZTLNE HH 8 S
40,000,000 *14] 40,000
HILIAZ(SRBEAELXELR) U U SAH 110,473 0 110,473
401 AIEHIZ SR THYI 110,473 110,473
01 AlZ8| 110,473 110,473
OHUAH(ERESEAEXEIR) = FH
TAH'20-224 S - 2 ZBRY WX
110,472,040 14| 110,473
HH2IBJH(SE=X1) 177,627 163,103 14,524
elIE =g 89,386 83,262 6,124
] 89,386 83,262 6,124
101 21A4H| 89,386 83,262 6,124
01 2= 89,386 83,262 6,124
OA22R+E 89,386
O= 12,5313 *x3BAI 25+ 123 26,316
Oors 11,3193 x3BA 2H+0E* 123 42,786
O8= 10, 1622 35 A1 2H<3H 123 12,805
O9%= 9,620 *x35AI2Hx 18123 4,041
OXSIH&HI 85,948,000 4% 3,438
J1I=28Hl 88,241 79,841 8,400
Jl=2&H] 88,241 79,841 8,400
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SN BRSXD
M Y 2AFH(S=KA)
cHel: = CERE)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
201 LB-2AH| 32,801 24,401 8,400
01 A2 22| 31,890 23,490 8,400
CEIIEN=%:] 14,370
O=M2gL8Y
(25,0002 19 *12& )+0.8 4,560
OEH 7| 8,600
- B8 £l e 220,000+ 104 2,200
B EW 7Y 300, 000 *4 A5 44 4,800
OglE &3 2 320,000 & *54 1,600
O=MEX 7 17,0002 x50 4 Xt 850
OF=)| gz 30,0002 x1CH+12& 360
O=2t| 9,120
OEz2=4tl 8,000& *19H 541« 12& 9,120
OS/W=H| 8,400
QOAuto CAD 18 =&
600, 000& *4H* 1 2,400
OEST dl 3,000,000 24 6,000
02 3324l 91 911 0
oORH 2= 911
OosJ|1f# 2,530& 302+ 12& 911
202 O4H| 41,040 41,040
01 =2LHO4 ] 41,040 41,040
QI |2 R0
180,000 19+ 12& 41,040
203 PYRF=&Y| 3,600 3,600
M EAM2IHRFA| 3,600 3,600
ORNZIYRFAI 300,000& =123 3,600
204 AR AY| 10,800 10,800
2 EZH=2ZH| 10,800 10,800
Ottt =l 50,000 =188+ 12& 10,800

_15_




